FENCE HEIGHT TO BE ADJUSTED AT
GATE TO ACHIEVE MIN 2600 mm
FROM ROOAD LEVEL

50 mm SPACING

BETWEEN 3.5 mm PALES

PALES TO BE CORRUGATED WITH
TRIAD HEADS & WELDED TO
50 x 50 x 6 STEEL ANGLE

M12 FIXING BOLTS &
PERMACONE SHEAR NUTS

(23no. PER PANEL)
2750 POST CENTRES

ANGLE BRACKET FIXED INTO
(angle fixings only)

50 x 50 x 6 ANGLE
BOLTED TO 50 x

50 x 6 mm ANGLE
BRACKET BOLTED

TO POST

FIXING AREA TO POST 100 x 75

K

mm
ENSURING METAL TO METAL FIXINGS

PALES TO BE 70 x 20 x 3.5 mm
CORRUGATED WITH TRIPLE POINTED
AND SPLAYED HEADS WELDED TO
50 x 50 x 6 STEEL ANGLE WITH

23 No. PALES PER PANEL

50 x 50 x 6 ANGLE

A‘

HORIZONTAL RAILS

ALL POSTS PREDRILLED WITH 15 mm
dia. FIXING HOLES INTERNAL FLANGE

FACE PROVIDE A 1 m LENGTH OF 50
mm PVC PIPE DUCT FROM RSJ EARTH
LUG THROUGH PLINTH INTO COMPOUND
AT EACH CORNER AND MIDDLE OF FENCE
LENGTH OR AS DIRECTED BY THE
ENGINEER

1

350

;t S5S

[s—— 100 x 55

TOP OF FENCE

50 x 50 x 6 mm
HORIZONTAL RAIL
hA

RSJ POST:

x 81 kg/m—m8 >}
S

POWDER COATED GALVANISED FENCE:
NO POWDER COATING TO:
ANGLE FIXING BRACKET,

FIXING AREA TO POST 100 x 75 mm,
100 mm LENGTH OF ANGLE TO PANELS
50 x

ENSURING METAL TO METAL FIXINGS

50 mm AREA AT PREDRILLED HOLES

ALL POSTS PREDRILLED

WITH 15 mm Dia. FIXING HOLES

FLANGE OF INTERNAL FACE

CONC. PLINTH
(SHOWN DOTTED)

1

PANELS EMBEDDED 50 mm IN
CONCRETE PLINTH & 100 mm
MINIMUM CONCRETE COVER TO
FRONT OF PALES

POST EMBEDDED LENGTH

850 mm MIN.

1100 x 600 x 600 mm CONCRETE-
FOUNDATIONS DIMENSIONS

TO OUTSIDE GROUND LEVEL

GRADE C30/37 CONCRETE

1100

& COMPACTED CL.BO4 UNDER

ELEVATION OF FENCE

100 x 55 x 8.1 kg/m
RSJ POSTS

7
N
R

N

R
N

N
X

&%
Y

GRADE C16/20
MASS  CONCRETE %
SURROUND TO ACHIEVE
600 mm x 600 mm K
FOUNDATION %

\\/
X
K

)
7
A

N
>

R
S

A

. -
PR
RN

SCALE 1:50

600 x 600 mm
PRECAST CONCRETE SLAB

450 mm DIA.CONCRETE PIPE
TO SUPPORT CONCRETE POST
MADE UP GROUND

POST CAST INTO
450 DIA. CONC. PIPE

GROUND LEVEL

50 mm SAND BLINDING

DETAIL WHERE THERE

——CONCRETE PLINTH 50 mm MIN.
ABOVE & BELOW GROUND LEVEL

1100 x 600 x 600 mm
CONCRETE FOUNDATIONS

1100
825 mm MIN.

s )

1100 x 600 x 600 mm
CONCRETE FOUNDATIONS

SIDE ELEVATION

OF POST

SCALE 1:50

(\

GREEN POWDER COATED PALISADE FENCE POST.
MINIMUM OF 4 No. ADDITIONAL HIGH PALES
E

ON LOWER FENCI
\ i

NOT GREATER THAN 50 mm

£

b
NON POW|
SECTION

IS MADE-UP GROUND

SCALE 1:50

SCALE 1:50

STEP(S) IN PALISADE FENCE (WHERE APPLICABLE)

DERCOATED
ST.

100

HORIZONTAL RAILS

50 x 50 x 6 mm ANGLE
BOLTED TO 50 X K
50 X 6 mm ANGLE

BRACKET BOLTED
TO POST

100 x 55 x 8.1 kg/m
RSJ POSTS

50 x 50 x 6 mm
ANGLE BOLTED TO 50 X
50 X 6 mm ANGLE
BRACKET BOLTED TO
POST

2600

150 mm x 250 mm
CONCRETE PLINTH ON
HARDCORE UNDER

150 mm)

—

Pin

150
=X

1100

1100 x 600 x 600 mm
CONCRETE FOUNDATIONS

PALES & PLINTH

BOLTS M12
WITH PERMACONE
SHEAR NUTS

10 mm FALL
50 mm MINIMUM
CONCRETE
COVER TO PALES
PLINTH 140 mm
MINIMUM DEPTH

150 mm
COMPACTED CL 804

1100

DETAILS OF FOUNDATION

/iCDNC. PLINTH

. 1100 x 800 x 800 mm

a CONCRETE FOUNDATIONS
‘ Ll - DIMENSIONS TO OUTSIDE
GROUND LEVEL

FIX CHS 48.3 x 3.2
TO EVERY 4th. POST.
WITH 2 NO. M10 BOLTS

2600

max 100@/mm

n”GDD nn

FINISHED| COMPOUN
STONE LEVEL

!

150

NOTES
1.) THIS DRAWING IS NOT TO BE SCALED.

2.) GALVANISING TO BE IN ACCORDANCE WITH BS EN
ISO 1461

3.) POWDER COATING TO BE IN ACCORDANCE WITH BS
EN 13438.

4.) PALES TO BE TRIPLE POINTED & SPLAYED, AND
WELDED TO RAILS IN ACCORDANCE WITH CL. 5.1 OF
BS 1722

5.) GAP BETWEEN PALES AND BETWEEN PALES AND
RSJ TO BE NOT GREATER THAT 50 mm.

6.) MINIMUM HEIGHT OF FENCE ON EITHER SIDE OF
COMPOUND IS TO BE 2600 mm

7.) IN AREAS OF MADE—UP GROUND ADDITIONAL
CONCRETE TO BE USED IN BASE. QUANTITY TO BE
APPROVED BY THE ENGINEER IN ADVANCE.

8.) CONCRETE TO BE GRADE C30/37 TO BASES.

9.) PALISADE FENCE TO HAVE GREEN POWDER COATING
IN' ACCORDANCE 5. WITH B.S. EN 13438. COLOUR;
MOSS GREEN RAL 6005.

10.) PALISADE FENCE TO BE CONSTRUCTED IN

ACCORDANCE WITH B.S. 1722 PART 12.

600 X 600 X 600 mm
DEEP CONCRETE
FOUNDATION

DETAIL OF STRUTS

DETAILS

SCALE 1:50

TO CORNER POST

SCALE 1:50

THIS SECTION OF FENCING TO BE WELDED CONSTRUCTION,

FABRICATED AS PER MAIN PANELS AS NOTED

NON POWDERCOATED SECTION pum f(m||m

OF POST AT BRACKET 00

POSITION.

M12 BOL

TO FENCING

SCALE 1:50
(WHERE REQUIRED)

ANGLE SUPPORT BRACKET

ANGLE SUPPORT BRACKET

NON POWDERCOATED
TOP & BOTTOM

MINIMUM HEIGHT
OF FENCE ON

EITHER SIDE OF

COMPQUND IS TO
2650 mm

A 50 x 50 MIN SECTION OF POST AT

TO BE LEFT NON POWDERCOATED.

TO BE LEFT NON POWDERCOATED.

DETAIL OF COATING

AT FIXING POINTS

SCALE 1:50

.

PERMACONE SHEAR NUTS

\\‘,

PERMACONE SHEAR NUTS

DEPTH OF STEP TO BE AGREED ON SITE, BUT NOT GREATER THAN 200 mm
NOTE:— ADDITIONAL HIGH PALES ON LOWER FENCE.

ANGLE TO BE

DETERMINED L
ON SITE.

4*

ELEVATION TO TYPICAL SLOPED

3.5 mm PALE BLADES TO BE
CORRUGATED WITH TRIAD HEADS
& WELDED TO 60 x 40 mm
RHS & 50 mm SPACING
BETWEEN PANELS

ANTI CLIMBING DEVICE FIXED
TO SUPPORT BRACKET FIXED
TO 50 x 50 x 6

—

HORIZONTAL RAIL.

ANTI CLIMBING
["DEVICE FIXED
TO CORNER

PLAN 1:50

ANTI CLIMBING DEVICE FIXED
TO SUPPORT BRACKET FIXED

TO 100 x 55 x 8.1 kg/m
RSJ POST

SECTION OF FENCING

DETAILS OF ANTI-CLIMBING

AID (WHERE APPLICABLE)
SCALE 1:50 SCALE 1:50
- - COPYRIGHT © ESBIENGINEERING & FACILITY MANAGEMENT LIMITED.
. i Client Drawing title
One Dublin Airport Central, ESB WIND DEVELOPMENT LTD. AND

designated purpose, without the written permission of ESBI Engineering & Facility Management Ltd.
PALlSADE FENCE DETAlLS Drawn Produced Verified Approved Approved date
ng@ rProject S.Bolton

1 fo6.12.1 ISSUED FOR PLANNING sB|sB|BL|Ds INTERNATIONAL Web: TIMAHOE NORTH SOLAR FARM Client ref. No. of sheets Size Scale

0 [16.02.19 ISSUED FOR PLANNING RK | RK | BL | DS . : ESB International is a trading name of TC219347 1 A3 AS SHOWN
Rev] Date Revision description Drn. [Prod] Ver. | App g;,); m ESBI Enginee‘i"g & Facmb}" Mﬂnag"‘—'ment Lid N 7

Purpose of issue - Preliminary unless indicated L\ Registered Office: Contract Production unit Drawing number Sheet Rev

u issue - iminary u indi £ »a5 ¢ 2
Registered in Ireland No. 1 ESB WIND DEVELOPMENT LTD PE605_D025_008_001 _001

Tender [] Client approval [] Construction[] As-built[] Revised [] J{ L JU

BF-DRG-013-004-001

Dublin Airport, Cloghran, Co. Dublin

BORD NA MOA POWERGEN LTD.

TIMAHOE NORTH SOLAR FARM

Allrights reserved. No part of this work may be modified or reproduced or copied in any form or by any means - graphic, electronic or
mechanical, including photocopying, recording, taping or information-and-retrieval system, or used for any purpose other than its

p:\meridian\transfer\timahoe\dec\pe605—d025—-008—-001-001.dwg



AutoCAD SHX Text
CONCRETE PLINTH 50 mm MIN. ABOVE & BELOW GROUND LEVEL & COMPACTED CL.804 UNDER

AutoCAD SHX Text
1100 x 600 x 600 mm CONCRETE FOUNDATIONS

AutoCAD SHX Text
ALL POSTS PREDRILLED WITH 15 mm Dia. FIXING HOLES FLANGE OF INTERNAL FACE

AutoCAD SHX Text
50 mm SPACING BETWEEN 3.5 mm PALES (23no. PER PANEL)

AutoCAD SHX Text
PALES TO BE CORRUGATED WITH TRIAD HEADS & WELDED TO  50 x 50 x 6 STEEL ANGLE

AutoCAD SHX Text
100 x 55 x 8.1 kg/m RSJ POSTS

AutoCAD SHX Text
POWDER COATED GALVANISED FENCE: NO POWDER COATING TO: ANGLE FIXING BRACKET, FIXING AREA TO POST 100 x 75 mm, 100 mm LENGTH OF ANGLE TO PANELS 50 x 50 mm AREA AT PREDRILLED HOLES ENSURING METAL TO METAL FIXINGS

AutoCAD SHX Text
TOP OF FENCE

AutoCAD SHX Text
CONC. PLINTH (SHOWN DOTTED)

AutoCAD SHX Text
50 x 50 x 6 mm  HORIZONTAL RAIL

AutoCAD SHX Text
100 x 55 x 8.1 kg/m RSJ POSTS

AutoCAD SHX Text
PALES TO BE 70 x 20 x 3.5 mm CORRUGATED WITH TRIPLE POINTED AND SPLAYED HEADS WELDED TO 50 x 50 x 6 STEEL ANGLE WITH 23 No. PALES PER PANEL

AutoCAD SHX Text
50 x 50 x 6 ANGLE BOLTED TO 50 x  50 x 6 mm ANGLE BRACKET BOLTED  TO POST

AutoCAD SHX Text
FIXING AREA TO POST 100 x 75 mm, ENSURING METAL TO METAL FIXINGS 

AutoCAD SHX Text
ALL POSTS PREDRILLED WITH 15 mm dia. FIXING HOLES INTERNAL FLANGE FACE PROVIDE A 1 m LENGTH OF 50 mm PVC PIPE DUCT FROM RSJ EARTH LUG THROUGH PLINTH INTO COMPOUND AT EACH CORNER AND MIDDLE OF FENCE LENGTH OR AS DIRECTED BY THE ENGINEER

AutoCAD SHX Text
PANELS EMBEDDED 50 mm IN CONCRETE PLINTH & 100 mm MINIMUM CONCRETE COVER TO FRONT OF PALES

AutoCAD SHX Text
1100 x 600 x 600 mm CONCRETE FOUNDATIONS DIMENSIONS TO OUTSIDE GROUND LEVEL GRADE C30/37 CONCRETE

AutoCAD SHX Text
POST EMBEDDED LENGTH 850 mm MIN.

AutoCAD SHX Text
50 x 50 x 6 ANGLE HORIZONTAL RAILS

AutoCAD SHX Text
50 x 50 x 6 ANGLE HORIZONTAL RAILS

AutoCAD SHX Text
M12 FIXING BOLTS & PERMACONE SHEAR NUTS

AutoCAD SHX Text
ANGLE BRACKET FIXED INTO WEB (angle fixings only)

AutoCAD SHX Text
10 mm FALL

AutoCAD SHX Text
PLINTH 140 mm MINIMUM DEPTH

AutoCAD SHX Text
50 mm MINIMUM  CONCRETE  COVER TO PALES 

AutoCAD SHX Text
150 mm x 250 mm CONCRETE PLINTH ON 150 mm  HARDCORE UNDER

AutoCAD SHX Text
50 x 50 x 6 mm ANGLE BOLTED TO 50 X 50 X 6 mm ANGLE BRACKET BOLTED TO POST

AutoCAD SHX Text
HORIZONTAL RAILS

AutoCAD SHX Text
50 x 50 x 6 mm ANGLE BOLTED TO 50 X  50 X 6 mm ANGLE BRACKET BOLTED  TO POST

AutoCAD SHX Text
BOLTS M12  WITH PERMACONE  SHEAR NUTS

AutoCAD SHX Text
CONC. PLINTH

AutoCAD SHX Text
1100 x 800 x 800 mm  CONCRETE FOUNDATIONS  DIMENSIONS TO OUTSIDE  GROUND LEVEL

AutoCAD SHX Text
600 X 600 X 600 mm DEEP CONCRETE FOUNDATION

AutoCAD SHX Text
FIX CHS 48.3 x 3.2 TO EVERY 4th. POST. WITH 2 N0. M10 BOLTS

AutoCAD SHX Text
150 mm COMPACTED CL 804 

AutoCAD SHX Text
FINISHED COMPOUND STONE LEVEL

AutoCAD SHX Text
FENCE HEIGHT TO BE ADJUSTED AT GATE TO ACHIEVE MIN 2600 mm FROM ROOAD LEVEL

AutoCAD SHX Text
1100 x 600 x 600 mm CONCRETE FOUNDATIONS

AutoCAD SHX Text
1100 x 600 x 600 mm CONCRETE FOUNDATIONS

AutoCAD SHX Text
NON POWDERCOATED SECTION OF POST AT BRACKET  POSITION.

AutoCAD SHX Text
M12 BOLT

AutoCAD SHX Text
PERMACONE SHEAR NUTS

AutoCAD SHX Text
PERMACONE SHEAR NUTS

AutoCAD SHX Text
NON POWDERCOATED SECTION OF POST.

AutoCAD SHX Text
NON POWDERCOATED SECTION OF POST AT BRACKET  POSITION.

AutoCAD SHX Text
M12 BOLT

AutoCAD SHX Text
PERMACONE SHEAR NUTS

AutoCAD SHX Text
PERMACONE SHEAR NUTS

AutoCAD SHX Text
NON POWDERCOATED SECTION OF POST.

AutoCAD SHX Text
NOTE:- ADDITIONAL HIGH PALES ON LOWER FENCE.

AutoCAD SHX Text
DEPTH OF STEP TO BE AGREED ON SITE, BUT NOT GREATER THAN 200 mm

AutoCAD SHX Text
GREEN POWDER COATED PALISADE FENCE POST.

AutoCAD SHX Text
MINIMUM OF 4 No. ADDITIONAL HIGH PALES ON LOWER FENCE

AutoCAD SHX Text
NOT GREATER THAN 50 mm

AutoCAD SHX Text
ANGLE TO BE  DETERMINED  ON SITE.

AutoCAD SHX Text
ANGLE TO BE  DETERMINED  ON SITE.

AutoCAD SHX Text
MINIMUM HEIGHT  OF FENCE  ON  EITHER SIDE OF COMPOUND IS TO BE  2650 mm

AutoCAD SHX Text
ANGLE SUPPORT BRACKET TO BE LEFT NON POWDERCOATED.

AutoCAD SHX Text
NON POWDERCOATED  TOP & BOTTOM

AutoCAD SHX Text
50 x 50 MIN SECTION OF POST AT ANGLE SUPPORT BRACKET TO BE LEFT NON POWDERCOATED.

AutoCAD SHX Text
ANGLE SUPPORT BRACKET TO BE LEFT NON POWDERCOATED.

AutoCAD SHX Text
NON POWDERCOATED  TOP & BOTTOM

AutoCAD SHX Text
ANTI CLIMBING DEVICE FIXED TO CORNER POST.

AutoCAD SHX Text
ANTI CLIMBING DEVICE FIXED TO SUPPORT BRACKET FIXED TO 100 x 55 x 8.1 kg/m RSJ POST

AutoCAD SHX Text
3.5 mm PALE BLADES TO BE CORRUGATED WITH TRIAD HEADS & WELDED TO 60 x 40 mm RHS & 50 mm SPACING BETWEEN PANELS

AutoCAD SHX Text
PLAN 1:50

AutoCAD SHX Text
ANTI CLIMBING DEVICE FIXED TO SUPPORT BRACKET FIXED TO 50 x 50 x 6 HORIZONTAL RAIL.

AutoCAD SHX Text
450 mm DIA.CONCRETE PIPE TO SUPPORT CONCRETE POST 

AutoCAD SHX Text
MADE UP GROUND

AutoCAD SHX Text
POST CAST INTO 450 DIA. CONC. PIPE 

AutoCAD SHX Text
600 x 600 mm PRECAST CONCRETE SLAB 

AutoCAD SHX Text
GROUND LEVEL

AutoCAD SHX Text
POST CAST INTO 450 DIA. CONC. PIPE 

AutoCAD SHX Text
50 mm SAND BLINDING

AutoCAD SHX Text
GRADE C16/20 MASS  CONCRETE SURROUND TO ACHIEVE  600 mm x 600 mm FOUNDATION

AutoCAD SHX Text
100 x 55 x 8.1 kg/m RSJ POSTS

AutoCAD SHX Text
100 x 55 x 8.1 kg/m RSJ POSTS

AutoCAD SHX Text
NOTES  1.) THIS DRAWING IS NOT TO BE SCALED.  2.) GALVANISING TO BE IN ACCORDANCE WITH BS EN ISO 1461. 3.) POWDER COATING TO BE IN ACCORDANCE WITH BS EN 13438.  4.) PALES TO BE TRIPLE POINTED & SPLAYED, AND WELDED TO RAILS IN ACCORDANCE WITH CL. 5.1 OF BS 1722  5.) GAP BETWEEN PALES AND BETWEEN PALES AND RSJ TO BE NOT GREATER THAT 50 mm. 6.) MINIMUM HEIGHT OF FENCE ON EITHER SIDE OF EITHER SIDE OF  SIDE OF COMPOUND IS TO BE 2600 mm  7.) IN AREAS OF MADE-UP GROUND ADDITIONAL CONCRETE TO BE USED IN BASE. QUANTITY TO BE APPROVED BY THE ENGINEER IN ADVANCE.  8.) CONCRETE TO BE GRADE C30/37 TO BASES. 9.) PALISADE FENCE TO HAVE GREEN POWDER COATING IN ACCORDANCE 5. WITH B.S. EN 13438. COLOUR; MOSS GREEN RAL 6005. 10.) PALISADE FENCE TO BE CONSTRUCTED IN   ACCORDANCE WITH B.S. 1722 PART 12. 

AutoCAD SHX Text
BF-DRG-013-004-001

AutoCAD SHX Text
p:\meridian\transfer\timahoe\dec\pe605-d025-008-001-001.dwg

AutoCAD SHX Text
C


